4
w 81.1|L/h
) 0.8796
S 0.35|%wt
W 0.0 |%wt
h 12 |%wt
() Hi 4554|Mi/kg
() H, MJ/kg
t 250
( ) m 13
H, 20[m
0|0:0 1:O0
( o |d 0.6|m
a, m
( o) d, m
0]0: 1:
:
Quw=WI[Got(m-1)A(]
(H)
H\ = Hy-2512[(9 h+w)/100] = [ 4283 [Mi/kg
(Go)
Go = 0.265x H, = [ 1135 |m*w/kg
(Ao)
Gy =0.203x H, +2.0 = [ 1069 |m*/kg
W=wx p= [ 7134 |kg/h
0 (Qw)
Qu = W [Go#(m-1)A] = [ 103846 |m’\/h
0 (Qo)
Ob = Ow - [(22.4/18)x Wx (wy+94)/100] =
[ 94258 [m’w/h
15 Q)
Q' = Qy x (273+15)/273 x 1/(60x 60) =
[ 0304]m® /s
(Q)
O = Oy x (273+0)/(273+15) = [ 0553 |m’ss
@
kg SOx =(22.4/732)x s =0.7s (s
Wlkg/h]  SOx (@)

g'=Wx 0.7s = [ 017 ]m*wn




(ppm) = q'/Op = q'/ Qp = ppm

2
= 0.28 |m?
V= / = 1.96 |m/s
(He)
He = Hy + 0.65(Hp + Hy)
Hy (
H¢=2.01x 107%x Q'x (T - 288)x [2.30log J+(1/J)-1]
gL (460-206x —Y i1
O V 7 - 288
Q' = 0.304 |m* /s
T= 273+  250|[ 1= 523|K
J= 1890.75
H¢=2.01x 107%x Q"x (T - 288)x [2.30logJ+(1/J)-1] =
m
Hm
0.795/Q@"x V
= - - [_oz]m
1+ —
V
(He)
He = Hy+ 0.65(Hp + Hy) = 20.78 |m
He = HO
K
— -3 2 _ 3
g=Kx 107 (Ho)’ = 1.73 [m¥/h
q' = 0.17 |m3/h
| g > ¢ |
K* = g'x 1000/(He)* = 0.39
Smax = 0.5%
9" wax = 0.25 |m*/h q > " wax
K.MAX = 0.58 K = K.MAX




